i1

Suhgoll Loldb .32 slus] oo 15E0 2.5 dldail _ Oludbl (e yasele

R VYU FTRY-1 /I | | D Begymall
Ll Ol uslgd |2 . - -
el * g 98l soblgdl Gl I dodall Jlgl duwlp A
eI
A1l
AV
lV
Vi
Vi
dolus) Sllys g uslgd .1
:OLogusd] «
[ s ]
lim x2-x+1=lim x2=+o0 lim x 2=+ lim x2=+o0
X —>+00 X >+ X —>-00 X —=+00
. - . . 3
lim =3x* - x+1= lim =3x* =+ lim x* =-o0 lim x* =+
X ——0 X ——00 X ——0 X —>+0
dzrys SV uodl Ll b Ddgu> Dl i : dale diyas
gl «
This is frimija . ad . d
: lim = =+ lim =—=0
x—0° ¥ " X >t X
Bodod) sl JEEYI
o0 0 Oxo0 +00 — 00
o0 0
: dold OLLS Loty ol DIV OLL
1. li%1+m—x= lir(r]1+llnx=—oo lime* =400 lim InX =400
x— X X— X X —>+400 X —>+o0
X X
2. lim e?= lim %ex =0 lim e_:+oo lim In_X:o+
x—>—ooX x—>—o]<_3 L X%+00Xn X400 X
3 lim == lim —=—=0 . .
x—>+0@X x40 @ 400 ||m eX :O+ limInx =—o0
7 X —>—0 x —0*
. . 2 1 limx"e* =0 limx"Inx =0
4. lime* +e™ = lim (ex) +—— =40 X o0 D0*
X >+ X =>4
(%2 x _ . In(x+1
5. lim SR t=~/x im&_—1_1 lim NO+D) _y
X —> 400 x—=0 X x—0 X
t —> +oo . Inx
lim (nt2)* lim——=1
tLl:rnmt—z X_)]'X _1
L In(t2)\* . 2In))?
~tim (2] - (2269
L In()\?
—['L'Il(zt—)
———
7

Pr.Belbacha EIMehdi



Sl Laldb L3t olus] (e

1520 Sk dldaiwl _ Ollusbdl gy pasthe

L

Js55 Lo VI of o8V Il Losie DIl G s dulys Lgio (o3l :AS NI g g,

AW dolasd) § sl LlgY Lo )

oo digl
limf (x) = o0 X =8 atolo Ldges Lyldo Juds CF)
X—>a
lim f (x)=b t00 ylgow Y =D aslze LAST Ljlae Juds ©F)
X =t
Jim f(x) =0 ¢ el il ool
e
. f(x
lim )
Xt Y
. f(x . f(x
IImQ:O Ilmﬁzioo
Xt ¥ X—>to Y
olesly Lol o8 gy ) | T(X) g 0l25l Lol Lo )8 Sty 1)
T gz Jeo Y H90 Xt X 0 gz alsYI 9om0
STOP l STOP
X =10
lim f (x)-ax =0 limf (x)-ax=b /beR
X =10 X —>Fo0
Yol=bl 93 eatiuck] °l?3leﬁﬁéwb‘d¢5a(cﬂ Sgzo Y = AXHD artolen Mol bl Juis ©F)
£00 gz ¥ =X +00

Q,w\.m J-b
oo Jlgzu f a.lwl‘;oadgw,d.&@é y =ax+b ol uv.

oo Jlgms T AN gomied Jilo cyie y = ax+b Oicng.
limf (X)-Y Cuss [

; limf (X)-Y Cuss
X >1m * X >1m *
limf (x)-y =40 wmoleems « | limf(x)-y =0 o o o g <
X =10 * X =100 :

Pr.Belbacha EIMehdi





